:(700)AtRHIE  (710)BYHHIE  MIgh(751)d8ta2H]  =:1(200)=¢H| (] - M
n 2
Jérir-w@i Off & 4 ;'M_u?j 3
I A 49,288,583 43,516,918 5,771,665
700 AtH|E 8,547,034 8,432,034 115,000
710 EYHIE 8,547,034 8,432,034 115,000
751 Ygkz2|y| 8,547,034 8,432,034 115,000
200 =4 1,724,389 1,609,389 115,000
201 YEHRFY| 1,240,145 1,187,145 53,000
01 AF2tel| 138,294 124,494 13,800
o a3 13,800
dEtieHod 2014 B 4= 150,000¢ x 1270 = 1,800
et o [Y|kM 2| ohel 4= (950kw)
1,000,000 x 12701 = 12,000
02 =32YH| 1,101,851 1,062,651 39,200
o 27| 39,200
BB A7\ = 28,000
- AEtieETY 4,000,000 x 770& x 80% = 22,400
- RTC S&2gAH 1,000,000 x 770 x 80% = 5,600
HjemT 2 Sz 11,200
- RTC SE2g4lg 2,000,000¥ x 770 x 80% = 11,200
214 FHFR| LA 189,763 127,763 62,000
05 £MHFAH| 189,763 127,763 62,000
O 2| (Hi=HZ ) 57,000
o HILHIY 7| A A HE RA| 2|
44 40,000,0009 - 7|8 14,000,000 = 26,000
o HiAHIY HEE A
474 28,350,000 - 7| 7,350,000¢ = 21,000
o Hi+E =2 HEE 22| 10,000,000 x 14| = 10,000
O ek f2YSAE &37] 2 A7|A0f8t RR|EH|
44 15,000,0009 - 7|8 10,000,000 = 5,000




[ot=2t]
2:(200)AHE A2 E  &(230)RYAMIZS  MBH(231)ER =:(401)AlEH[LSCHY| (Tl - @l
n 2
Jérir-w@i Off & 4 ;'M_u?j 3
200 A2H2|ZE 32,143,672 | 26,797,953 | 5,345,719
230 RS 31,830,050 | 26,036,050 5,794,000
231 EX| 9,000 0 9,000
401 AlgH| Lol 9,000 0 9,000
01 AlZH| 9,000 0 9,000
O EZ|ofH| 9,000
o St rZ Y ALRA|(ME S 12 - 49) OY
9,000,000¢ x 14| = 9,000
234 1&8 31,821,050 26,036,050 5,785,000
401 AlH|LCofs] 31,821,050 | 26,036,050 5,785,000
01 Al€H| 31,821,050 26,036,050 5,785,000
O st gt S H2(2|Y Y| ALY 3,000,000
o AlH] 3,000,000,0009 x 14/ = 3,000,000
O Y02 S22 HAX2|AlE HIALY 1,812,000
o AlH| 1,812,000,000¢ x 14/ = 1,812,000
O ALY St 7], BaE At
#Z 399,000,0009 - 7|4 299,000,0009I = 100,000
O ALY st SEET SA
% 500,000,000¥ - 7| 300,000,000 = 200,000
O MUY st 2 3AL
#% 500,000,000¥ - 7|4 400,000,000% = 100,000
O =BT 22|22 (ZH]) 110,000,000 x 1A= 110,000
O 895, 8& st AR L2A|H3AL 115,000
o ZH| 75,000,000% x 14| = 75,000
o ot EHS| A 40,000,0009 x 14| = 40,000
O 8Ys, As ARYXR| 2t HHZAF (H]) 300,000
o SHUAIZ FH AJEZ| JHMHZAL 30,000,0009 x 14| = 30,000
o SHAIZ FH AJLR| IHHZAL 30,000,0009 x 14| = 30,000
o BYA|IE FH A2 LA 30,000,0009 x 14| = 30,000
o AEHY FH AJEZ| M ZAL 30,000,0009 x 14| = 30,000
o 85z FH AJHZ| JHMZAL 30,000,0009 x 14| = 30,000
o 7|AZ1 FH AJER| IHMHZAL 30,000,0009 x 14| = 30,000
o A5tz FH AJHZ| JHMHZAL 30,000,0009 x 14| = 30,000
o (FYUZAIZ FH AIJLR| TS A 30,000,000¢ x 14| = 30,000
o MBCH&= FH AR2H2| I ZAL 30,000,0009 x 14| = 30,000
O QOA|AALRLE = A2HZ| JHHFAF  30,000,0009 x 14] = 30,000
O &5t AldE SEET (I Y4,5Y9,29 . 92lH)
#% 58,000,000¥ - 7|4 30,000,0009 = 28,000
O Aot HUZAH e M, )
#% 80,000,000¥ - 7|4 60,000,0009 = 20,000




H(00)2HEAAIE | F:(B00)BIL_ AIE:E0N0IEE_2:(801)0lul (sl - 22
n 2
T Avd | Guy | BY
800 OflH|H| 313,622 761,903 AN448,281
801 OfiH[H| 313,622 761,903 N448,281
801 ojlH|H| 313,622 761,903 N448,281
O of|d]H] 224 313,622,000¥ - 7|14 761,903,000 = A 448,281 313,622 761,903 N448,281




2:(700)AGHIE  Sh(710)FYHIE Mg (716) A 2| 3H

=:(200)=2H|

[
40
2%
rio

1 = Z
——— Avd | Guy | BY
700 ArHIE 1,872,288 1,782,288 90,000
710 FYHIE 1,872,288 | 1,782,288 90,000
716 {2|&H| 1,872,288 | 1,782,288 90,000
200 S| 1,860,538 | 1,770,538 90,000
206 AM=H| 412,001 357,001 55,000
02 <ZH| 238,388 183,388 55,000
O g8 SUAH(HL8EA) ¢
£ 140,680,0009 - 7|4 85,680,000¢ = 55,000
214 KRR nAH| 598,289 563,289 35,000
05 FHRAH| 598,289 563,289 35,000
O oteH2|d stps2i 2| I7|2 2IEfx{2[H|
24 180,600,000 - 7| 145,600,000 = 35,000
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(401) Al b Y 2oy

fu
£
S
o

n 2 2
s AEw Ad | Gug | B3
200 AEHA|Z 1,753,526 1,822,526 269,000
230 RYAHRIS 1,753,526 1,822,526 269,000
235 7|A1EA| 1,459,004 | 1,528,004 269,000
401 AlQH[Z RO 1,459,004 1,528,004 269,000
01 AlgH| 1,459,004 | 1,528,004 269,000

o ZARR AR (M2, 0H2) 48] @3

44 232,000,000¥ - 7|4 265,000,000%d = 233,000

o LHFEEHI 2 44 20,000,000 - 7|4 45,000,000& = A 25,000
o RUS ZYAOIAIAL B
44 109,000,0009 - 7|4 120,000,000 =  A11,000




2 (700)AIHBIE e (710)FYEIE  ME:(716)42|&H|  =:(200)= Y| (CHel - @
n 2
R R aay | q| sz
700 AIEHIE 3,581,063 3,291,117 289,946
710 EYHlE 3,581,063 3,291,117 289,946
716 Z{2|&H| 3,581,063 3,291,117 289,946
200 = 3,571,063 3,281,117 289,946
202 O] 78,240 72,240 6,000
01 =L{of| 78,240 72,240 6,000
O goliskex 2|2 4,200
o UR|URA|M HEAIY S &0l L Bl AR 2| 20|
150,000¢ x 6% x 23| = 1,800
o TMS dEi=dad Sdf 4 stgete|sth d7IMo|LE 2FA
234 150,000¥ x 6 x 43| - 7|4 150,0009 x 2 x 43| = 2,400
O gL EAISH=2] 2 1,800
o TMS dEfi=d&td st R L stdge| St H7|MD|Lt A
24 150,000¥ x 4% x 43| - 7|1 150,000¥ x 2H x 23| 1,800
206 A=zH| 575,298 533,898 41,400
02 <ZH| 372,212 330,812 41,400
O gslisteH2|d 41,400
o EEI- _g_ 07|01|7\-”(0HA}-) ?.OI
274 3,000% % 5,650kg x 128 - 7|4 3,000¥ x 4,500kg x 12€¥€ = 41,400
214 SAFA| A 1,081,293 1,011,293 70,000
05 FHRAH| 1,081,293 1,011,293 70,000
O golisteH2|d 70,000
o alldteH 2| StegelA| H7| 2 fIEA2(H]
24 133,000,000¥ - 7|4 63,000,000 = 70,000
215 S&H| 1,463,547 1,291,001 172,546
O YhlEAlSt2{2] 2 172,546 1,463,547 1,291,001 172,546
o ot 2|d 26 SHE(1, OOOkW);H7| 172,546
7l2es 4 8,320 x 300kw x 7& = 17,472
Ao B4 104.33 x 236,000kw x 78 x 90% = 155,074




